Problem Set 41
Math 103
Dr. Stan Hartzler

A.
One waxes a car in 36 minutes; another can in 45.  If they work together for 20 minutes, what fraction of the job gets done?

B.
The ratio of pits to pockets was 8 to 5.  If there were 91 total cavities of these kinds, how many pockets were there?

C.
 A colony of 300 penguins consisting of 14% emperors is made larger by the addition of a group that is 99% emperors, making a final group that is exactly 48% emperors.  How many were in the group that was 99% emperors?

D.
Charlie Tuna swims away from Morris the Cat at ten times Morris’ rate.  If, after 10 minutes of swimming for each, Charlie is 1800 yards ahead, what is Morris’ rate?
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Factor completely:
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Factor:
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Solve/graph:

[image: image9.wmf]9

3

2

<

+

x




10.

[image: image10.wmf](

)

=

+

2

2

2

hhh

h

h


11.
Factor:
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Solve:
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Solve for y:
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25.
Develop the quadratic formula from: 
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Change notation:
.0362 =
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28.
Solve 
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29.
Solve for x using Cramer’s rule:
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Use a = 16 and b = -9 to check

[image: image31.wmf]b

a

b

a

-

=

-


(TLOACFEIA)

31.

[image: image32.wmf](

)

=

-

2

4

xy




32.

[image: image33.wmf](

)

=

-

2

2

y

x



33.

[image: image34.wmf](

)

=

+

x

y

4


34.
Divide
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35.
Find the slope of a line containing the points (2, 3) and (-1, -2).
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For 
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 find three points for the table and graph the line:



X
Y
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39.
Now find
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40.
Write the slope of a line 







perpendicular to the line in problem 38.

41.
What is the slope of a line whose equation is 
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44.
Solve:
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45.
Find the area of a circle with perimeter
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46.
What can you tell about two numbers if their product is…


a)
Equal to 0?
B)
> 0
C)
< 0?
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49.
Write the conjugate of 
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51.
Find the equation of the line containing the point (-3, 8) parallel to a line with slope equal to -1/2.  Then “macho-graph”.

52.
Find the y-axis intercept for the line in question 41.

53.
Solve for x:
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54.
State the largest answer to 
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55.
Graph
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56.
Solve for all (x,y):
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57.
Fill in blanks with all appropriate letters:


DESCRIPTION

EXAMPLE SOLUTION SET

GRAPH

____
Consistent & independent
A
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D parallel line

___
Consistent & dependent
B
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F one line

Problem Set 42
Math 103
Dr. Stan Hartzler
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Solve and graph:
a)
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Factor completely:
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16.
The ratio of turtle necks to crew necks was 5 to 12.  If there were 444 crew necks, how many total necks were there?

17.
A mutant sludge blob slimes up the Mystic River at 40 feet per hour and slimes back down the same distance at 60 feet per hour.  If the upstream time up was 9 hours more, how long (in hours) was the downstream sliming trip?

18.
The first part of the novel was 85% boredom.  The last part was 64% boredom.  If there were 434 pages in all and 70% of the total was boredom, how many pages long was the last part?
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Solve:
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25.
Solve for y:
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27.
Develop the quadratic formula from
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29.
Solve by completing the square: 
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30.
Solve for z by Cramer’s Rule:
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31.
Test T or F for a = 2 and b = 3:
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Divide
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33.
Write the slope of the line containing (-3, 2) and (-2, 0).

34.
Write the slope of a line perpendicular to the line whose equation is 
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35.
Show a chart and graph for

[image: image96.wmf]1

4

+

=

x

y


36.

[image: image97.wmf]=

+

+

-

-

18

1

6

1

6

9

2

3

b

b





37.
Solve for (x, y):
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40.
The conjugate of 
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42.
If one icebreaker can free can trash the party in 30 minutes and another can do the job in 70 minutes, what fraction gets done if they work together for 21 hours?
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44.
Change notation: 
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Solve for x:
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State the product of the two answers to: 
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47.
Tell what you can about xy in each case.


a)
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Find the diameter of a circle with the area
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Graph:
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50.
Solve:
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51.
Describe what happens when one is solving a system of linear equations which is:

a) inconsistent
b) consistent and independent

c) consistent and dependent
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Problem Set 43
Math 103

Dr. Stan Hartzler

A. 
One waxes a rug in 10 minutes; another can in 15.  How long does it take if they work together?
B.
The ratio of wits to wookies was 8 to 13.  If there were 182 total space-movie creatures of these kinds, how many wookies were there?

C.
 A convention of 300 rulers consisting of 31% emperors is made larger by the addition of a group that is 99% emperors, making a final group that is exactly 48% emperors.  How many were in the group that was 99% emperors?

D.
Superbird makes a 480-km trip in the same time that a plane can make a 320-km trip.  If the bird is 40 kph faster, how long do these trips take?
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Factor:
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Solve/graph:

[image: image120.wmf]8

1

1

2

<

-

+

x




8.

[image: image121.wmf](

)

=

+

2

2

2

hh

h


9.
Factor:
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Solve:
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16.
Change notation: 3,600,000
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19.
Solve for y:
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20.
Develop the quadratic formula from
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22.
Solve
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23.
Solve for y using Cramer’s rule:
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24.
Use a = -3 & b = -4 to check
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Divide
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29.
Find the slope of a line containing the points (5, 0) and (-1, -2).
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33.
Solve:
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34.
Find the area of a circle with perimeter
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35.
What can you tell about two numbers if their product is…


a)
Equal to 0?
B)
> 0
C)
< 0?
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38.
Write the conjugate of 
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40.
Find the equation of the line containing the point (-3, 2) parallel to a line with slope equal to 3/2.  Then “macho-graph”.

41.
Find the y-axis intercept for the line in question 40.

42.
Solve for x:
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43.
State the largest answer to 
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44.
Graph
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45.
Solve for all (x,y):
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46.
Fill in blanks with all appropriate letters:


SOLVING RESULT

EXAMPLE SOLUTION SET

GRAPH

____ x and y vanish true statement
A
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D parallel line

___ x and y vanish false statement
B
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___ x or y = a number


C
(2, -3)



F one line

47.
If 
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)

5

2

3

-

-

=

=

x

x

x

f

y

, find f(3) + f(1)
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1.
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2.
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6.
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7.
Solve and graph:
a)
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9.
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13.
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14.
The ratio of turtle necks to crew necks was 7 to 9.  If there were 400 crew necks, how many crew necks were there?

15.
A drop of rain rises on an updraft for 150 seconds and falls at twice the rising rate for 200 seconds.  If the falling distance was 1400 feet more than the rising distance, find the rising rate.

16.
The morning students were 8% lazy and the afternoon students were 43% lazy.  If there were 77 students in all and on the whole they were 23% lazy, how many were morning students?

17.
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18.
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Solve:

19.
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20.
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21.
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23.
Develop the quadratic formula from:
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24.
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25. 
Solve by completing the square: 
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26.
Solve for x by Cramer’s Rule:
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27.
Test T or F for a = 2 and b = 3:
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28.
Divide
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29.
Write the slope of the line containing (-3, 0) and (4, 8).

30.
Write the slope of a line perpendicular to the line whose equation is 
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31.
Show a chart and graph for
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33.
Solve for (x, y):
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34.
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35.
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36.
The conjugate of 
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37.
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38.
If one can rig the job in 40 minutes and the other can rig it in 60 minutes, how long will it take if they rig together?

39.
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40.
Change notation: 
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41.
Solve for x:
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42.
State the product of the two answers to: 
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(This is not as hard as it first looks and the answer is simple)

43.
Tell what you can about xy in each case.


a)
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b)
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44.
Find the diameter of a circle with the area
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Graph:
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46.
Solve:
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47.
Describe the solution set of a system of linear equations which is:

a) inconsistent
b) consistent and independent

c) consistent and dependent

48.
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49.
If 
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50.
Find the y-axis intercept for the line in question 29.

Problem Set 45
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A.
One machine weaves a linoleum floor in 21 hours; another can in 28.  How long does it take if they work together?

B.
The ratio of wits to wookies was 8 to 13.  If there were 252 total space-movie creatures of these kinds, how many wits were there?

C.
A convention of 300 penguins consisting of 34% adelies is made larger by the addition of a group that is 99% adelies, making a final group that is exactly 46% adelies.  How many were in the group that was 99% adelies?

D.
Superbird makes a 480-km trip at the same rate that a plane makes a 360-km trip.  If the bird flies 2 hours longer, how many hours does the plane fly?

1.
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6.
Factor:
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7.
Solve/graph:
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Factor:
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14.
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Solve:

15.
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16.
Change notation: 
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19.
Solve for y:
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20.
Develop the quadratic formula from 
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22.
Solve 
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23.
Solve for z using Cramer’s rule:
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24.
Use a = -3 & b = -4 to check
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25.
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27.
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28.
Divide
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29.
Find the slope of a line containing the points (3, -4) and (-2, -4).

30.
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31.
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32.
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33.
Solve:
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34.
Find the area of a circle with perimeter

[image: image244.wmf]16
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35.
What can you tell about two numbers if their product is…


a)
Equal to 0?
B)
> 0
C)
< 0?

36.
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37.
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38.
Write the conjugate of 
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39.
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40.
Find the equation of the line containing the point (1, -2) parallel to a line with slope equal to 4.  Then “macho-graph”.

41.
Find the y-axis intercept for the line in question 40.

42.
Solve for x:
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43.
State the smallest answer to 
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44.
Graph
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45.
Solve for all (x,y): 
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46.
Fill in blanks with all appropriate letters:


EXAMPLE EQUATIONS
EXAMPLE SOLUTION SET

GRAPH

____
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F one line

47.
If 
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48.
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49. Translate:
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Solve and graph:
(a)
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1.
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4.
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6.

[image: image269.wmf](

)

=

2

2

3

a

a

a


7.
Solve and graph:
a)
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9.
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13.
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14.
The ratio of turtle necks to crew necks was 7 to 9.  If there were 400 crew necks, how many crew necks were there?

15.
A drop of rain rises on an updraft for 150 seconds and falls at twice the rising rate for 200 seconds at a rate that is 30 ft/sec more than the rising rate.  If the falling distance was 1400 feet more than the rising distance, find the rising rate.

16.
The morning students were 11% infected and the afternoon students were 43% infected.  If there were 80 students in all and on the whole they were 27% infected, how many were morning students?

17.
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18.
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Solve:

19.
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(when to use…?)

21.
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23.
Develop the quadratic formula from:
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25. 
Solve by completing the square: 
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26.
Solve for x by Cramer’s Rule:
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27.
Test T or F for a = 2 and b = 3:
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28.
Divide
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29.
Write the equation of the line containing (-3, 1) and (2,1).

30.
Write the slope of a line perpendicular to the line whose equation is 
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31.
Show a chart and graph for
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33.
Solve for (x, y):
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34.
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35.
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36.
The conjugate of 
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38.
If one can jiggle the rig in 30 seconds and the other can jiggle it in 70 seconds, how long will it take if they jiggle together?
39.
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40.
Change notation: 
[image: image301.wmf]00038
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41.
Solve for x:
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42.
State the positive difference of the answers to: 
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(This is not as hard as it first looks and the answer is simple)

43.
Tell what you can about xy in each case.


a)
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44.
Find the diameter of a circle with the area
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45.
Graph:
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46.
Solve:
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47.
Describe the solution set of a system of linear equations which is:

a) inconsistent
b) consistent and independent

c) consistent and dependent

48.
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49.
If 
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50.
Find the y-axis intercept for the line in question 29.
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52.
Translate: 
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Solve and graph:
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Problem Set 47
Math 103
Dr. Stan Hartzler

A.
An incredibly persistent grasshopper smashes the window in 36 minutes; a second does it in 45 min.  How long does it take if they work together?

B.
Seven out of every ten bulbs tested were bright.  If there were 78 dim bulbs in all, how many bulbs were tested in all?

C.
The first plague of 920 grasshoppers was 10% persistent.  The second plague was 31% persistent.  If on the whole 19% of all the grasshoppers in both plagues were persistent, how many grasshoppers were in the second plague?

D.
The federal pony took the mail at 14 mph and then the federal express took it at 38 mph for 6 hours more than the pony’s time.  If the mail traveled 831 miles in all, how many hours did the pony ride?
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6.
Factor:
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7.
Solve/graph:
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9.
Factor:
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14.
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Solve:

15.
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16.
Change notation: 
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19.
Solve for y:
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20.
Develop the quadratic formula from 
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22.
Solve 
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23.
Solve for z using Cramer’s rule:
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24.
Use a = -3 & b = -4 to check

[image: image342.wmf]b

a

b

a

-

=

-


(TLOACFEIA)

25.

[image: image343.wmf](

)

=

-

2

y

x




26.

[image: image344.wmf](

)

=

-

-

-

2

3

2

y

x



27.

[image: image345.wmf](

)

=

-

x

y

x

3

5

3


28.
Divide
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29.
Find the slope of a line containing the points (3, 4) and (-3, -4).
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31.
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33.
Solve:
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34.
Find the area of a circle with perimeter
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35.
What can you tell about two numbers if their product is…


a)
Equal to 0?
B)
> 0
C)
< 0?
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37.
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38.
Write the conjugate of 
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39.
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40.
Find the equation of the line containing the point (-1, -2) parallel to a line with slope equal to 1/4.  Then “macho-graph”.

41.
Find the y-axis intercept for the line in question 40.

42.
Solve for x:
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43.
State the smallest answer to 
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44.
Graph
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45.
Solve for all (x,y): 
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46.
Fill in blanks with all appropriate letters:


EXAMPLE EQUATIONS
EXAMPLE SOLUTION SET

GRAPH

____
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F one line

47.
If 
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49. Translate:
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Solve and graph:
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Problem Set 48
Math 103
Dr. Stan Hartzler

1.
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5.
Solve and graph:
a)
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b) 
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6.
NEW: Write the inverse 
[image: image378.wmf](

)

x

f

1

-

of the function 
[image: image379.wmf](

)

(

)

x

x

y

x

f

/

1

+

=

=


7.
Solve and graph:
a)
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Factor completely:

8.
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11.
Translate: 
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13.
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14.
The ratio of turtle necks to crew necks was 7 to 9.  If there were 400 turtle necks, how many necks were there in all?

15.
A drop of rain rises on an updraft for 150 seconds and falls for 200 seconds at a rate that is 40 ft/sec more than the rising rate.  If the falling distance was 14000 feet more than the rising distance, find the rising rate.  (It works out now.)
16.
The morning students were 57% immune and the afternoon students were 89% immune.  If there were 100 students in all and on the whole they were 73% immune, how many were morning students?
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18.
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Solve:

19.
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(when to use…?)

21.
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22.
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23.
Develop the quadratic formula from:
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25. 
Solve by completing the square: 
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26.
Solve for x by Cramer’s Rule:
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27.
Test T or F for a = 2 and b = 3:
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28.
Divide
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29.
Write the equation of the line containing (4, 4) and (-3, 5).

30.
Write the slope of a line perpendicular to the line whose equation is 
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31.
Show a chart and graph for
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33.
Solve for (x, y):
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34.
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35.
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36.
The conjugate of 
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37.
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38.
If one can smuggle the jug in 55 hours and the other can smuggle it in 66 hours, how long will it take if they smuggle together?
39.
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40.
Change notation: 
[image: image412.wmf]000
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41.
Find the y-axis intercept for the equation in question 29.
42.
State the positive difference of the answers to: 
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(This is not as hard as it first looks and the answer is simple)

43.
Tell what you can about xy in each case.


a)
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b)
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c)
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44.
Find the diameter of a circle with the area
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45.
Graph:
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46.
Solve:
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47.
Describe the solution set of a system of linear equations which is:

a) inconsistent
b) consistent and independent

c) consistent and dependent

48.
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49.
If 
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Problem Set 49
Math 103
Dr. Stan Hartzler

A.
A hummingbird smashes the window in 56 minutes; a second does it in 42 min.  How long does it take if they work together?

B.
Seven out of every ten bulbs tested were bright.  If there were 224 bright bulbs in all, how many bulbs tested dim?

C.
The first plague of 920 grasshoppers was 90% persistent.  The second plague was 69% persistent.  If on the whole 81% of all the grasshoppers in both plagues were persistent, how many grasshoppers were in both plagues together?

D.
The federal pony took the mail at 14 mph and then the federal express took it at 38 mph.  If the mail traveled 1730 miles and 55 hours in all, how many hours did the pony ride?
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6.
Factor:
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Solve/graph:
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9.
Factor:
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14.
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Solve:

15.
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16.
Change notation: 
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19.
Solve for y:
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20.
Develop the quadratic formula from 
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Go on, Try!
21.
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22.
Solve 
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23.
Solve for z using Cramer’s rule:
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24.
Use a = -3 & b = -4 to check
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28.
Divide
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29.
Find the slope of a line containing the points (2, 1) and (-3, -4).
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33.
Solve:
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34.
Find the diameter of a circle with perimeter
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35.
Find the inverse

[image: image459.wmf]1
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37.
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38.
Write the conjugate of 
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39.
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40.
Find the equation of the line containing the point (1, 0) parallel to a line with slope equal to 2/3.  Then “macho-graph”.

41.
Find the y-axis intercept for the line in question 40.

42.
Solve for x:
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43.
State the largest answer to 
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44.
Graph
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45.
Solve for all (x,y): 
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46.
Fill in blanks with all appropriate letters:


EXAMPLE

EXAMPLE
EXAMPLE


GRAPH

EQUATIONS

RESULET
SOLUTION SET


____
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C x = 3

F 
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I one line

47.
If 
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48.
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49. Translate:
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50.
Solve and graph:
(a)
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(b)
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51.
Find the x-axis intercept for the line in problem 40.

Problem Set 50
Math 103
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1.
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2.

[image: image481.wmf](

)

=

-

3

2

7

x


3.
Find 
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4.
For the functions f and g above, find f(4) + 2g(3).

5.
Solve and graph:
a)

[image: image485.wmf]0
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b) 
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6.
Write the inverse 
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7.
Solve and graph:
a)
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b)
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Factor completely:

8.
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9.
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10.
Find x (translate (x>0)): 
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11.
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12.
The ratio of turtle necks to crew necks was 7 to 9.  If there were 40 more turtle necks than crew necks, how many necks were there in all?

13.
The morning class was 44% lethargic and the afternoon class was 23% lethargic.  If there were 200 students in all and on the whole they were 30% lethargic, how many were morning students? 

14.
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15.
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Solve:

16.
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17.
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(when to use…?)

18.

[image: image499.wmf](
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19.
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20.
Develop the quadratic formula from:
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21.
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22. 
Solve by completing the square: 
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23.
Test T or F for a = 2 and b = 3:
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24.
Divide
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25.
Write the equation of the line containing (4, 5) and (-3, 5).

26.
Write the slope of a line perpendicular to the line whose equation is 
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27.
Show a chart and graph for
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28.
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29.
Solve for (x, y):
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30.
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31.
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32.
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33.
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34.
If one can smuggle the jug in 77 hours and the other can smuggle it in 44 hours, how long will it take if they smuggle together?

35.
Find the y-axis intercept for the equation in question 25.

36.
State the number of answers to: 
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(This is not as hard as it first looks and the answer is simple)

37.
Tell what you can about xy in each case.


a)

[image: image516.wmf]0

3

=

-

xy



b)

[image: image517.wmf]0

2

>

-

xy



c)

[image: image518.wmf]0

5

<

xy


38.
Find the diameter of a circle with the area

[image: image519.wmf]p
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39.
Solve this system:
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40.
Solve:
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41.
Describe the solution set of a system of linear equations which is:

a) inconsistent
b) consistent and independent

c) consistent and dependent

42.
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Problem Set 51
Math 103

Dr. Stan Hartzler

A.
The animals in one feed lot go through a truckload of hay in 30 days.  Those in a second lot go through a load in 45 days.  How long will four truckloads last if the animals get penned in together?

B.
Seven out of every ten bulbs tested were bright.  If there were 24 dim bulbs in all, how many total bulbs were tested?

C.
A large company of Kings from the East came to the City of David.  After 31 days of travel they encounter Amahl, whose singing inspires them to travel at a faster rate (5 suidong per day faster, in fact) than before meeting Amahl.  If they can travel 21 more days to complete the total journey of 779 suidong, what was the rate before meeting Amahl?

1.
Find 
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2.
For the functions described above, find 
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6.
Factor:
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7.
Solve/graph:
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9.
Factor:
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12.
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14.
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15.
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16.
Change notation: 
[image: image540.wmf]6
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18.
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19.
Solve for y:
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20.
Develop the quadratic formula from 
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21.
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22.
Solve 
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 by completing the square; check using formula.

23.
Solve for z using Cramer’s rule:
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24.
Find the slope of a line containing the points (1, 3) and (-3, -4).)

25.
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26.
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27.
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28.
Solve:
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29.
Find the diameter of a circle with perimeter

[image: image554.wmf]p
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30.
Find the inverse
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31.
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32.
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33.
Write the conjugate of 
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34.
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35.
Find the equation of the line containing the point (1, -1) parallel to a line with slope equal to -2/3.  Then “macho-graph”.

36.
Find the y-axis intercept for the line in question 35.

37.
Solve for x:
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38.
State sum of the answers to 
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39.
Solve by graphing:
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40.
Solve for all (x,y): 
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41.
Fill in blanks with all appropriate letters:


EXAMPLE

EXAMPLE
EXAMPLE


GRAPH


EQUATIONS

RESULET
SOLUTION SET


____
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C x = 3

F 
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I one line

42.
Solve for a (translate first):

[image: image571.wmf]3
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43.
Solve and graph:
(a)
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44.
Find the x-axis intercept for the line in problem 35.

Problem Set 52
Math 103
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1.
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2.
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3.
Find 
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4.
For the functions f and g above, find f(1) /g(0).

5.
Solve and graph:
a)

[image: image579.wmf]0
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b) 
[image: image580.wmf]0

3

4

2

>

+

+

z

z


6.
Write the inverse 
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7.
Solve and graph:
a)
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Factor completely:

8.
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9.
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10.
Find x (translate (x>0)): 
[image: image587.wmf]2
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11.
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12.
The ratio of turtle necks to crew necks was 7 to 9.  If there were 30 less turtle necks than crew necks, how many necks were there in all?

13.
The morning class was 61% safe and the afternoon class was 39% safe.  If there were 180 students in all and on the whole they were 43% safe, how many were afternoon students? 

14.
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15.
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Solve:

16.
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17.
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(when to use…?)

18.
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19.
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20.
Develop the quadratic formula from:
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22. 
Solve by completing the square: 
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23.
Test T or F for a = 2 and b = 3:
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24.
Divide
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25.
Write the equation of the line containing (3, -5) and (-3, -4).

26.
Write the slope of a line perpendicular to the line whose equation is 
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27.
Show a chart and graph for
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29.
Solve for (x, y):
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30.
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31.
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32.
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33.
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34.
If one can type the data in 42 minutes and the other can type it in 56 hours, how long will it take if they type three such data sets together?
35.
Find the y-axis intercept for the equation in question 25.

36.
State the number of answers to: 
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(This is not as hard as it first looks and the answer is simple)

37.
Tell what you can about xy in each case.


a)
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38.
Find the diameter of a circle with the area
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39.
Solve this system:
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40.
Solve:
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41.
Describe the solution set of a system of linear equations which is:

a) inconsistent
b) consistent and independent

c) consistent and dependent

42.
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42.
For 
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, what relationship can we establish which will give us only one answer instead of the usual two answers?

Problem Set 53
Math 103
Dr. Stan Hartzler

A.
One pool of secretaries uses a box of envelopes in 40 hours; another group takes 60 hours.  How long will 5 boxes last if the two groups are merged together to work on a collaborative enterprise?

B.
Seven out of every ten bulbs tested were bright.  If there were 24 more bright bulbs than dim, how many total bulbs were tested?

C.
Supereagle sees an airplane full of people 30 miles away, flying away from him at 340 mph.  If his speed is 360 mph, how long will it take to catch up to the plane and start dinner?

1.
Find 
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For the functions described above, find 
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6.
Factor:
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7.
Solve/graph:
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Factor:
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12.
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14.

[image: image633.wmf](

)

(

)

1

1

2

2

-

+

x

x

=

Solve:

15.
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16.
Change notation: 
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18.
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19.
Solve for y:
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20.
Develop the quadratic formula from 
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Go on, Try!

21.
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22.
Solve 
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 by completing the square; check using formula.

23.
Solve for x, y, z using Cramer’s rule:
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24.
Find the slope of a line containing the points (11, -13) and (-1, -7).
25.
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26.
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28.
Solve:
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29.
Find the diameter of a circle with perimeter
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30.
Find the inverse

[image: image650.wmf]1

-

f

 of

[image: image651.wmf](

)

(

)

(

)

x

x

y

x

f

-

-

=

=

2

/

1


31.
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32.
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33.
Write the conjugate of 
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34.
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35.
Find the equation of the line containing the point (-1, 4) parallel to a line with slope equal to -4/3.  Then “macho-graph”.

36.
Find the y-axis intercept for the line in question 35.

37.
Solve for x:
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38.
State sum of the answers to 
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39.
Solve by graphing:
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40.
Solve for all (x,y): 
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41.
Fill in blanks with all appropriate letters:


EXAMPLE

EXAMPLE
EXAMPLE


GRAPH


EQUATIONS

RESULET
SOLUTION SET


____
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D 
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I Parallel line
42.
Solve for a (translate first):
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43.
Solve and graph:
(a)
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44.
Find the x-axis intercept for the line in problem 35.

Problem Set 54
Math 103
Dr. Stan Hartzler

1.
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2.
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3.
Find 
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4.
For the functions f and g above, find f(3) /g(i).

5.
Solve and graph:
a)

[image: image674.wmf]0
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b) 
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6.
Write the inverse 
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7.
Solve and graph:
a)

[image: image678.wmf]8
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Factor completely:

8.
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9.
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10.
Find x (translate (x>0)): 
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11.
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12.
The ratio of rubber necks to stiff necks was 7 to 9.  If there were 30 less rubber necks than total necks, how many stiff necks were there in all?

13.
The morning class was 40% visible and the afternoon class was 62% visible.  If there were 180 students in all and on the whole they were 58% visible, how many were morning students? 

14.
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15.
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Solve:

16.
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17.
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(when to use…?)

18.
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19.
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20.
Develop the quadratic formula from:
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21.
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22. 
Solve by completing the square: 
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23.
Test T or F for a = 2 and b = 3:
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24.
Divide
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25.
Write the equation of the line containing (-3, 5) and (3, -4).

26.
Write the slope of a line perpendicular to the line whose equation is 
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27.
Show a chart and graph for
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29.
Solve for (x, y):
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30.
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31.
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32.
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33.
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34.
If one pipe fills the tank in 42 minutes and the other can drain the tank in 56 minutes, how long will it take to fill an empty tank if the two pipes fill the tank together?
35.
Find the y-axis intercept for the equation in question 25.

36.
State the number of answers to: 
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(This is not as hard as it first looks and the answer is simple)

37.
Tell what you can about xy in each case.


a)
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c)
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38.
Find the diameter of a circle with the area
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39.
Solve this system:
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40.
Solve:
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2

27

2

2

2

2

2

-

=

-

=

+

y

x

y

x


41.
Describe the solution set of a system of linear equations which is:

a) inconsistent
b) consistent and independent

c) consistent and dependent

42.
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42.
For 
[image: image712.wmf]0
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, what relationship can we establish which will give us answers which are opposite each other?


(HINT if you want:  write one in parentheses, put a big negative sign outside the parentheses, and set it equal to the other.)
Problem Set 55
Math 103
Dr. Stan Hartzler

A.
The animals in one total confinement area (TCA) fill  up the basement in 14 weeks.  Those in a second TCA take 35 weeks to fill the basement.  How long will it take to fill one basement if the two groups get confined together?

B.
There are seven bright professors for every ten dim ones.  If there are 330 more dim ones than bright, how many are bright?

C.
J takes the same amount of time to walk 3 miles as it takes K to ride her skateboard 5 miles.  If K travels 5 mph faster than J, what is K’s rate?

1.
Find 
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2.
For the functions described above, find 
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4.
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6.
Factor:
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7.
Solve/graph:
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8.

[image: image722.wmf](

)

=

+

+

2

hhh

h

h


9.
Factor:
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12.
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13.
Translate & solve: 
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14.
Write the conjugate of
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Solve:

15.
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16.
Change notation: 
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18.
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19.
Solve for y:

[image: image733.wmf](
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20.
Develop the quadratic formula from 
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.
Go on, Try!

21.
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22.
Solve 
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 by completing the square; check using formula.

23.
Solve for x, y, z using Cramer’s rule:
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24.
Find the slope of a line containing the points (8, 6) and (2, -1).

25.
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28.
Solve:
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29.
Find the diameter of a circle with perimeter
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30.
Find the inverse
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31.
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32.
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33.
State the quadratic formula.


34.
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35.
Find the equation of the line containing the point (1, -1) parallel to a line with slope equal to 2/3.  Then “macho-graph”.

36.
Find the x and y-axis intercepts for the line in question 35.

37.
Solve for x:
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38.
State largest answer: 
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39.
Solve by graphing:
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40.
Solve for all (x,y): 
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41.
Fill in blanks with all appropriate letters:
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GRAPH
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A 4 = 7
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I Parallel line

42.
Solve and graph:
a) 
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43.
What IS the solution set for the system listed just above the directions for problem 42 above?
44.
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45.
(% mix problems)









(contemplate!)

46.
For the final:
Review four “chapter” exams, take-home exams, previous finals.
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